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Age of the Solar system (from Phil's book)
-

suitable half-life
Radioactive dating : ( must here : I's abundant radioactive species )
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I If the rock traps the argon and there was no argon to start with, then
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'" K and '"Sr suffices to tell the age:
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More complicated.. (skip all this
Sr thing andgo directly to Uranium and Pb-Pb dating).

A-
Rb →

A Sr half - life 48
.
8 by r
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In this case , assumptions are necessary . First , eliminate wpo
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And divide by another species nds
. Compare to a stable isotope of Sr ;% .
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points from different samples would lie in a line
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Lead- lead dating (show recent reviews)
204Pb is stable

238 U →
Mb
Pb ( ten -- 4.47×109yr)

2360 → G-Pb (the-7.04×108yr )
232Th →

"8 Pb (tin -- 1.4×10" yr ) Too slow → errors greater then l Myr

The parent isotopes here high abundance ; favorable half- lives .

Uranium systems :

tS:÷E÷" "



iT÷EI÷¥ii÷ce
"'s ) " ,

ya -_ be tar xp ya
-

-

"613/204 Pb
yz=bztazX2 yz -7+13/204 Pb

se , 2380/204 Pb
Yy - bi = Aq X, Nz -5350/204 Pb
yz - bz= 92×2

be -420612/204 Pb)oof bz=

@7Pb1204PbjoYIb2_aIn.xI.a,
-

- Etta - I ) ;az=fHEy

"÷siEi¥
ftp./2o4pb)-(7pb/w4Pb)o ¥I÷ )



Type :

9,75 = a 2=1733 go
-

- mile hot)
-

204 Tb

a=7Ij no --HI Crocs
Wh Pb

235 u e
thi
- I

a ¥. . )
y
-
- an -

anotyo

-
i y = an t b ⇒ 5- Yo - are

:;÷÷÷i¥ii:T:÷:*::÷÷:::term with the exponentials .

"t → ¥
-

- a - a +¥
→

IYyz.fi#s--a-a.4by--EYIb-go--2o7Pbo(rot)
Wh Tb

a-Yip no --HI Cop
Wh Pb

235 u e
thi
- I

a ¥. . )



if → ¥
-

- a - a + If
Ca- a:'÷

'

= :÷÷[¥ - a :÷;] + a
•Gpb f

- intercept
slope

plot
"Pb vs

a- Pb
- -

(inverse lead- lead
wcopb noPb dating ) f

relies on theCsis : ' MacPherson 2014 (review ) intercept.

first i pull in 2002 10 10
Connelly etc 2012
Show age of Cds, dispersion of chondrule ages, Csis being older, and 26mg

Abundance pointing to the presence of 26dL. ⇒ formation near supernova .

aluminum 26 → short half - life i 0.72Myr
Energy to melt smell bodies.

(Als formed near the Sun -

Cas formation event short ( ten the lo" yrs)


